SHIGER

NMAETEYRE

2024/10/31 B
wELEMI L PER Y

P2 1 zs > g =1 = yo¥
I 55 ] N
@B5%35 (81D OB5END (HE) eB858H3d (BhE —'EET%%@@%%?@TW%
T ’:D = AL 8 I_’ ‘: gl 5
= BROREYBIC 5 BNCHVED
8 7 B ¥ FE ez 2134 6 |2l [meEC Eeix Lcaz i oREs
A AN (F A [ 2 1]
I o[z]%|ojo|o|o|o|c|u® -
3 (11 A O #EENEFR] .
2 | & [Pl KA (RIE) —] 16:30 #&T 1645 ik
L - (1 (&) AEEH - 5BEOR)
EL5HFIET  14:10
4 | B [f&RERA ] BODE  14:15~14:30
- 2055 B 14:40~16:30
g | ERS . | A A A A A % RETHR  16:45
5| K| bonrn e Ol2l%|7 2|35 O™
PyT——— e T TR B (68 0K) 3 BERE]
6| X |G e e I e I N xz@ 2 ommzasEs
o A A L1 |4 A5 %38%%%? 11:20
7| *[mikicn R10 a=HEREE j)g j)g o BOOS 1112511540
= 3= o = :25~11:
. . | 1= . EETR 11:60
8 | & ROV EREAQ.34P O=] % PR RERE 1 —
3™ 3=10H FLES
L 4 MR 13:45~14:35
9 | & |mm ke A s ] x Tanh e
108 (118 (F) 5 ErsR — “|[TeE@ we¥BRR=
KMAZSREE — IR¥BRERR 8:30~11:35
11| B |sasremi Zomis o orri«|lololololo] | x 2BEL2 - SEEIAR
| 3| % ES; B
BOMDE  14:156~14:25 ? (f; FrUPHEB  13:30~14:30
12| % ERETR 14:3 O[z]#10|0|0|0|0|O| % %g%gA%AégMONWO
3 RODZZES »
ARF[H] AR LLE7 |5 & | Ak Tiﬁé"a‘l?%éi] 16:20~ :
13| %K ez (13:10~13:45) rerire] O P w |8 O a5 || 7| % BRI {p
pr— 7 [T 77 7|7 s
14| % if;&lm O%% JHNNE e < |[ME@® 208 & 218 &
S5 o 4FRHOR]
117 7 7 7 7 o . .
15| & [Ew7arm o] x| » x| x| x|c|c|x||B,R, @p-2®
NN, RETR 1320
JRTTREEEN (y m— G Bl )
- EWZ X R
| 11H14H M)
17|18 — s 1|23 4] 5 |we|iz|r2|m
1 ~ &l 830 | 930 | 1080 11110 1150 | 1220| 1320 1415 1440
—— Q trt 920 | 1020 11:00| 11:40] 1220| 1250] 1410 1430
18| A Ol A|C|O1C1010 | X A === ey - s
E——— ST eel@|®| & |mal %] - BRO72E
191 K| Gk (3-4im) (o O 2 #©|©]0|0|0 L | S s %1 ¢
= 112134 walEr] 52 [T
00| o [EfERS Akl H mEea| o | 8| | A A B OV | = e e I e e e
AW B AR +§W£@%*§'§E 5] 2 {% 4 5 Ak C = sig wo@fe 1;12:0 ;;zo 1250 1310 1330
: E3
1 | == EZT = | = = P
21| K BB BN S B RS O E[O|O]O|O K2lan| « |2 L] 2B ]EE] | smme
31 - AR S
L1 | [21BCO]
. L 3]
22| & aszaad OFH #|©|©| O[O0 O|O] # 1 - 5%]
— BOOS 13:00~13:15
57 | BESE 13:30~14:20
23| x| By oA ] e 14:30
(RESEBFOLEIIDBE)
24|H ] FPIHR 14:30~165:20
L1llq = (3]
25(A O2] x|O|O|0|0|O| ;]| X ISR 13:00~
31 HEREBEE 13:30~15:20
26| K| gchn o=l%|o|o|o|o|o " RPRRTE BT ROOR
e | = R
o
1 ==z > ET
27|k |4msm szl o # 1 o) o K)o - | x B F AR
SR S 5 T1A28H M
HHIEUF S A3 4) 1 #| O O] O ux 12345 [R2[FK
28| & ARF HER (3-4%1) R1 o % E- =T == (72 = c | X 85| &30 [ 930 [ 10=0][ 1130][ 1320 315
1 e 920 | 1020 | 1120 | 1220 1410 | 1430 1440
29| & |tk Ok (3 441) oz]%|o|0 O O # |[1&[x1[x2[x3[x5] &
i REC0SFRREN1250) Eak - wEm
TETRERML L\, cTEANA2 A AL B BwL
30|+ 1 3F NERE




